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PART 9

MY ANSWER
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D. Trough canals

B. Is located in Colorado

C.

A. The hair on the head began to thin out
A. Fill up pillows
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Many parts of the Southwestern United States would become deserts again without the waters
of the Colorado River. A system of thousands of miles of canals, hundreds of miles of tunnels
and aqueducts, and numerous dams and n bring Colorado River water to the area. The
Imperial Valley in Southern California is an example of such a place; it is a vast and
productive agricultural area that was once a desert. Today, 2,000 miles of canals irrigate the
fertile land and keep it productive.

1. Which the following is mentioned in the passage as a way that Colorado River water gets
to the Southwest?

(A) By truck

(B) In bottles

(C) In wells

(D) Through canals

Penjelasan: Jawaban (D) adalah yang tepat karena “stated” atau dijelaskan dalam bacaan. Hal
itu dinyatakan dalam kalimat kedua.

2. According to the passage, the Imperial Valley

(A) Is a desert today

(B) Is located in Colorado

(C) Produces a lot of agricultural goods

(D) Does not require irrigation

Penjelasan: Kita dapat menemukan jawaban dalam kalimat ketiga. Disebutkan bahwa

“Imperial Valley”;”is a vast and productive agricultural area“. Maka, jawaban yang tepat
adalah (C).

PASSAGE TWO (Questions 3-5)

The ancestors of humans had a lot more hair than the humans of today; in fact, they had thick
hair all over their bodies. This thick hair was necessary for protection against the cold of the
Ice Ages.

As Earth got warmer, the hair began to thin out, except for on the head. The head hair has
remained trough the evolutionary process, both as a sort of pillow to cushion the sensitive
head when it gets banged around and as a sort of that to keep the head warm and prevent so
much heat from escaping through the scalp.

3. Which of the following is true about the hair of the ancestors of human?

(A) There was not much of it.

(B) It covered their entire bodies.

(C) It was thin.

(D) It was not useful.

Penjelasan: Kita dapat menemukan jawaban pada kalimat pertama paragraf pertama. Maka,
jawabannya adalah (B).




4. According to the passage, what happened as the temperature on Earth increased?
(A) The hair on the head began to thin out.

(B) The hair on the body remained the same.

(C) The hair on the body got thicker.

(D) The hair on the body began to thin out.

Penjelasan: Jawaban (D) dapat ditemukan dalam kalimat pertama paragraf kedua.

5. The author indicates that one of the purpose of hair on the head is to

(A) Fill up pillows

(B) Help heat escape through the scalp

(C) Ensure that the head is warm

(D) Make it easier to think

Penjelasan: Jawaban (C) dapat kita temukan dalam bacaan baris ke-6 dan ke-7.
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1. D. Trough canals

2. C, produces a lot of aagrivultural goods
3. A

4. D. The hair on the body began to thin out
5. C. Ensure that the head is warm
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1. D. Through canals
2. C. produces a lot of agricultural goods
3. A
4. D. the hair on the body began to thin out
5. C. ensure that the head is warm
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Latihan Jurusan :

Many pasrts of the soulthwestern united staters would become deserts again without the
waters the colorado river. A system of thousands of miles of canals, hundreds of miles of
tunnels and aqueducts, and mumerous dams and redervoirs bring Colorado river water in the
area. The imperial valley in southem California is an example of such a place; it is a vast an
productive agricultural area that was once that was a dessert, Today, 2.000 miles of canals
irrigate the fertile land and keep it productive.

1. Which the following is mentioned in the passage as a way that Colorado ado river water
gets to the southwest?

(A) By truck

(B) in bottles

(C) in wells

(D) Trough canals *(D)

2. According to the passage, the Imperial Valley
(A) is a desrt today

(B) is located in Colorado

(C) Produces a lot of agricultural ggoods *(C)
(D) dies not require irrigation

the ancestors of humans had a lot more hair than the humans of today; in fact, they had thick
hair all over their bodies. This thick hair was nacessary for protection against the col of the
ice Ages. As Earth got warmer, the thair began to thin out, except for on the head. The hair
has remained trough the evolutionary process, both as a sort of pillow to cushion the sensitive
head when it gets banged around and as a sort of that to keep the head warm prevent so much
heat from escaping through the scalp.
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3. CIIIOOSC the drawing that shows the human ancestory that are described in the first paragrap
Answer : *(B)

4. According to the passage, what Happened on earth increased?

(A) The hair on the head begain to thin out

(B) The hair on the body remained the same

(C) the hair on the body got thicker

(D) The hair on the body began to thin out *(D)

5. The author indicates that one of the purpose of hair on the head is to
(A) Fill ups pillows

(B) Help heat escape through the scalp

(C) Ensure that the head is warm *(C)

(D) Make it easier to think



Nama : Anggun
Kelas : IK3A

Nim :191910043

1.D
2.C
3.B
4.C

5.C



Nama : Athallah Deva Pramonoputra
Kelas :IK3A
NIM  :191910039
1. Which the following is mentioned in the passage as a way that Colorado River gets to the

Southwest?
a. By truck
b. In bottles
c. Inwells

2. According to the passage, the Imperial Valley
a. Isa desert today
b. Islocated in Colorado

d. Does not require irrigation

3. Choose the drawing that shows human ancestors that are described in the first paragraph
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4. According to the passage, what happened as the temperature on Earth increased?
a. The hair on the head began to thin out.
b. The hair on the body remained the same.
c. The hair on the body got thicker

5. The author indicates that one of the purpose of hair on the head is to
a. Fill up pillows

c. Ensure that the head is warm
d. Make it easier to think



Nama : Bahrul Adian
NIM :191910042

Part &8

D. Through canals

C. produces a lot of agricultural goods
A.

D. the hair on the body began to thin out
C. ensure that the head is warm
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. Which the following is mentioned is the passage as a way that Colorado River

water gets to the Southwast.?
(D) Trough canals

. According to the passage, the Imperial Valley

(C) Produces a lot of agricultural goods

. Choose the drawing that shows the human ancestors that are described in the

first paragraph
A)

. According to the passage, what happened as the temperature on Earth

increased.?
(D)The hair on the body began ro thin out

. The author indicates that one of the purpose of hair on the head is to

(C)Ensure that the head is warm
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Answer part 9

D. Trough canals

C. Produces a lot of agricultu

A.

D. The hair on the body began to thin out
C. Ensure that the head is warm
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1. Which the following is mentioned in the passage as a way that Colorado River gets to the
Southwest?

a. By truck
b. In bottles
c. In wells

d.Through canals

2. According to the passage, the Imperial Valley
a.Is a desert today

b. Is located in Colorado

c¢. Produces a lot of agricultural goods

d.Does not require irrigation

3. Choose the drawing that shows human ancestors that are described in the first paragraph !

A.



D.

4. According to the passage, what happened as the temperature on Earth increased?
a. The hair on the head began to thin out.

b. The hair on the body remained the same.

c. The hair on the body got thicker

d. The hair on the body began to thin out.

5.The author indicates that one of the purpose of hair on the head is to
a. Fill up pillows

b.Help heat escape through the scalp

¢ Ensure that the head is warm

d. Make it easier to think
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Which the following is mentioned is the passage as a way that Colorado River
water gets to the Southwast?
(D) Trough canals

According to the passage, the Imperial Valley
(C) Produces a lot of agricultural goods

Choose the drawing that shows the human ancestors that are described in the
first paragraph
(A)

According to the passage, what happened as the temperature on Earth
increased.?
(D)The hair on the body began ro thin out

The author indicates that one of the purpose of hair on the head is to
(C)Ensure that the head is warm
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1. Which the following is mentioned in the passage as a way that Colorado River gets to
the Southwest?
a. By truck
b. In bottles
c. Inwells
d. Through canals

2. According to the passage, the Imperial Valley
a. Isa desert today
b. Islocated in Colorado
¢. Produces a lot of agricultural goods
d. Does not require irrigation

3. Choose the drawing that shows human ancestors that are described in the first

paragraph

a. Gambar 1
b. Gambar 2
c. Gambar3
d. Gambar 4

4. According to the passage, what happened as the temperature on Earth increased?
a. The hair on the head began to thin out.
b. The hair on the body remained the same.
c. The hair on the body got thicker
d. The hair on the body began to thin out.

5. The author indicates that one of the purpose of hair on the head is to
a. Fill up pillows
b. Help heat escape through the scalp
c. Ensure that the head is warm
d. Make it easier to think
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Latihan Jurus 2 :

Line

(5)

Line

(5)

1.D

2.C

3.A

4.D

5.C

Many parts of the southwestern United States would become deserts again without the waters
the Colorado River. A system of thousands of miles of canals, hundreds of miles of tunnels and
aqueducts, and numerous dams and reservoirs bring Colorado River water in the area. The
Imperial Valley in southern California is an example of such a place; it is a vast and productive
agricultural area that was once a desert. Today, 2,000 miles of canals irrigate the fertile land
and keep it productive.

1. Which the following is mentioned in the 2. According to the passage, the Imperial
passage as a way that Colorado River Valley
water gets to the Southwest? (A) Is a desert today
(A) By truck (B) Is located in Colorado
(B) In bottles (C) Produces a lot of agricultural goods
(C) In wells (D) Does not require irrigation

(D) Trough canals

The ancestors of humans had a lot more hair than the humans of today; in fact, they had thick
hair all over their bodies. This thick hair was necessary for protection against the cold of the Ice

Ages.

As Earth got warmer, the hair began to thin out, except for on the head. The head hair has
remained trough the evolutionary process, both as a sort of pillow to cushion the sensitive head
when it gets banged around and as a sort of that to keep the head warm and prevent so much
heat from escaping through the scalp.

3. Choose the drawing that shows the 4. According to the passage, what happened as
human ancestors that are described in the temperature on Earth increased?
the first paragraph (A) The hair on the head began to thin out.
(B) The hair on the body remained the same.
(C) The hair on the body got thicker.
(D) The hair on the body began to thin out.

5. The author indicates that one of the purpose
of hair on the head is to
(A) Fill up pillows
(B) Help heat escape through the scalp
(C) Ensure that the head is warm
. (D) Make it easier to think
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1. Which the following is mentioned is the passage as a way that Colorado River
gets to the Southwast?

(D) Trough canals

2. According to the passage, the Imperial Valley

(C) Produces a lot of agricultural goods

3. Choose the drawing that shows the human ancestors that are described in the first
paragraph

(4)

4. According to the passage, what happened as the temperature on Earth increased.?

(D)The hair on the body began ro thin out

5. The author indicates that one of the purpose of hair on the head is to

(C)Ensure that the head is warm
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1. Which the following is mentioned in the passage as a way that Colorado River water gets to the
Southwest?

(A) By truck

(B) In bottles

(C) In wells

(D) Through canals

2. According to the passage, the Imperial Valley
(A) Is a desert today

(B) Is located in Colorado

(C) Produces a lot of agricultural goods

(D) Does not require irrigation

3. Choose the drawing that shows human ancestors that are described in the first paragraph

B)

4. According to the passage, what happened as the temperature on Earth increased?
(A) The hair on the head began to thin out.

(B) The hair on the body remained the same.

(C) The hair on the body got thicker.

(D) The hair on the body began to thin out.

5. The author indicates that one of the purpose of hair on the head is to
(A) Fill up pillows

(B) Help heat escape through the scalp

(C) Ensure that the head is warm

(D) Make it easier to think

M. Athallah Zada Pandya
191910024
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. D. Trough canals
Is located in Colorado

The hair on the body began to thin out

1

2. C.
3. A.
4. D.
5. C. Make it easiar to think
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1. Which the following is mentioned in the passage as a way that Colorado River water gets
to the Southwest?
Answer: (D) Through canals
2. According to the passage, the Imperial Valley
Answer: (C) Produces a lot of agricultural goods
3. Which of the following is true about the hair of the ancestors of human?
Answer: (B) It covered their entire bodies.
4. According to the passage, what happened as the temperature on Earth increased?
Answer: (D) The hair on the body began to thin out.
5. The author indicates that one of the purpose of hair on the head is to

Answer: (C) Ensure that the head is warm
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Many parts of the Southwestern United States would become deserts again without the waters
of the Colorado River. A system of thousands of miles of canals, hundreds of miles of tunnels
and aqueducts, and numerous dams and n bring Colorado River water to the area. The Imperial
Valley in Southern California is an example of such a place; it is a vast and productive
agricultural area that was once a desert. Today, 2,000 miles of canals irrigate the fertile land
and keep it productive.

1. Which the following is mentioned in the passage as a way that Colorado River water gets to
the Southwest?

(A) By truck

(B) In bottles

(C) In wells

(D) Through canals

Answer: D. Through canals

2. According to the passage, the Imperial Valley
(A) Is a desert today

(B) Is located in Colorado

(C) Produces a lot of agricultural goods

(D) Does not require irrigation

Answer: C. Produces a lot of agricultural goods



The ancestors of humans had a lot more hair than the humans of today; in fact, they had thick
hair all over their bodies. This thick hair was necessary for protection against the cold of the Ice
Ages.

As Earth got warmer, the hair began to thin out, except for on the head. The head hair has
remained trough the evolutionary process, both as a sort of pillow to cushion the sensitive head
when it gets banged around and as a sort of that to keep the head warm and prevent so much
heat from escaping through the scalp.

3. Which of the following is true about the hair of the ancestors of human?
(A) There was not much of it.

(B) It covered their entire bodies.

(C) It was thin.

(D) It was not useful.

Answer: B. It covered their entire bodies.

4. According to the passage, what happened as the temperature on Earth increased?
(A) The hair on the head began to thin out.

(B) The hair on the body remained the same.

(C) The hair on the body got thicker.

(D) The hair on the body began to thin out.

Answer: D. The hair on the body began to thin out.

5. The author indicates that one of the purpose of hair on the head is to
(A) Fill up pillows

(B) Help heat escape through the scalp

(C) Ensure that the head is warm

(D) Make it easier to think

Answer: C. Ensure that the head is warm
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Latihan Jurus 2 :

Many parts of the southwestern United States would become deserts again without the
waters the Colorado River. A system of thousands of miles of canals, hundreds of miles

of tunnels and aqueducts, and numerous dams and reservoirs bring Colorado River water
in the area. The Imperial Valley in southern California is an example of such a place; it is
a vast and productive agricultural area that was once a desert. Today, 2,000 miles of

Line

(5)

canals irrigate the fertile land and keep it productive.
1. Which the following is mentioned in the passage as a way that Colorado River water
gets to the Southwest?
(A)By truck
(B) In bottles
(C) In wells
(D) Trough canals

2. According to the passage, the Imperial Valley
(A)Is a desert today
(B) Is located in Colorado
(C) Produces a lot of agricultural goods
(D) Does not require irrigation

The ancestors of humans had a lot more hair than the humans of today; in fact, they had
thick hair all over their bodies. This thick hair was necessary for protection against the cold
of the Ice Ages.

As Earth got warmer, the hair began to thin out, except for on the head. The head hair has
Line | remained trough the evolutionary process, both as a sort of pillow to cushion the sensitive
(5) | head when it gets banged around and as a sort of that to keep the head warm and prevent so

much heat from escaping through the scalp.
3. Choose the drawing that shows the human ancestors that are described in the first
paragraph . (answer : A)




4. According to the passage, what happened as the temperature on Earth increased?
(A) The hair on the head began to thin out.
(B) The hair on the body remained the same.
(C) The hair on the body got thicker.
(D) The hair on the body began to thin out.

5. The author indicates that one of the purpose of hair on the head is to
(A)Fill up pillows
(B) Help heat escape through the scalp
(C) Ensure that the head is warm
(D)Make it easier to think



Nama : Pratiwi
Nim :191910048
Kelas : IK3B

1. Which the following is mentioned in the passage as a way that Colorado River gets to the
Southwest?

a. By truck
b. In bottles
c. In wells

d.Through canals

2. According to the passage, the Imperial Valley
a.Is a desert today

b. Is located in Colorado

c¢. Produces a lot of agricultural goods

d.Does not require irrigation

3. Choose the drawing that shows human ancestors that are described in the first paragraph !

A.



D.

4. According to the passage, what happened as the temperature on Earth increased?
a. The hair on the head began to thin out.

b. The hair on the body remained the same.

c. The hair on the body got thicker

d. The hair on the body began to thin out.

5.The author indicates that one of the purpose of hair on the head is to
a. Fill up pillows

b.Help heat escape through the scalp

¢ Ensure that the head is warm

d. Make it easier to think
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Latihan Jurus 2 :

Many parts of the southwestern United States would become desert again without the waters the
Colorado River. A system of thousands of miles of canals, hundreds of miles of tunnels and
aqueducts, and numerous dams and reservoirs bring Colorado River water in the area. The
Imperial Valley in southern California is an example of such a place; It is a vast and productive
agricultural area that was once a desert. Today, 2,000 miles of cannals irrigate the fertile land

and keep it productive.

1. Which the following is mentioned in the passage as a way that Colorado River water gets
to the southwest?
a) By Truck
b) In bottles
c) Inwells
d) Trough canals
2. According to the passage, the Imperial Valley
a) Is a desert today
b) Is located in Colorado
c) Produces a lot of agricultural goods

d) Does not require irrigation

The ancestors of human had a lot more hair that the humans of today; in fact, they had thick hair

all over their bodies. This thick hair was necessary for protection against the cold of the ice ages.

As Earth got warmer, the hair began to thin out, except for on the head. The head hair has
remained trough the evolutionary process, both as a sort of pillow to cushion the sensitive head
when it gets banged around and as a sort of that to keep the head warm and prevent so much heat

from escaping through the scalp.



3. Choose the drawing that shows the human ancestors that are described in the first
paragraph
a) Because they had thick hair all over their bodies.
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4. According to the passage, what happened as the temperature on Earth increased?
b) The hair on the head began to thin out.
c) The hair on the body remained the same.
d) The hair on the body got thicker.
e) The hair on the body began to thin out.
5. The author indicates that one of the purpose of hair on the head is to
a) Fill up pillows
b) Help heat escape through the scalp
c) Ensure that the head is warm

d) Make it easier to think
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1. Which the following is mentioned in the passage as a way that Colorado River gets to the
Southwest?
a. By truck
b. In bottles
c. Inwells
d. Through canals

2. According to the passage, the Imperial Valley
a. Isa desert today
b. Islocated in Colorado
¢. Produces a lot of agricultural goods
d. Does not require irrigation

3. Choose the drawing that shows human ancestors that are described in the first paragraph
a.

b.
C.
d

4. According to the passage, what happened as the temperature on Earth increased?
a. The hair on the head began to thin out.
b. The hair on the body remained the same.
c. The hair on the body got thicker
d. The hair on the body began to thin out.

5. The author indicates that one of the purpose of hair on the head is to
a. Fill up pillows
b. Help heat escape through the scalp
c. Ensure that the head is warm
d. Make it easier to think
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Part 9

1. Which the following is mentioned in the passage as a way that Colorado River water gets to the
Southwest?

(A) By truck

(B) In bottles

(C) In wells

(D) Through canals

2. According to the passage, the Imperial Valley
(A) Is a desert today

(B) Is located in Colorado

(C) Produces a lot of agricultural goods

(D) Does not require irrigation

3. Choose the drawing that shows human ancestors that are described in the first paragraph

B)

4. According to the passage, what happened as the temperature on Earth increased?
(A) The hair on the head began to thin out.

(B) The hair on the body remained the same.

(C) The hair on the body got thicker.

(D) The hair on the body began to thin out.

5. The author indicates that one of the purpose of hair on the head is to
(A) Fill up pillows

(B) Help heat escape through the scalp

(C) Ensure that the head is warm

(D) Make it easier to think
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1. Which the following is mentioned in the passage as a way that Colorado River gets to the
Southwest?
a. By truck
b. In bottles
c. Inwells

d. Through canals

2. According to the passage, the Imperial Valley
a. Isa desert today
b. Is located in Colorado
c. Produces a lot of agricultural goods

d. Does not require irrigation

3. Choose the drawing that shows human ancestors that are described in the first paragraph
a
b.
C.

d.

4. According to the passage, what happened as the temperature on Earth increased?
a. The hair on the head began to thin out.

b. The hair on the body remained the same.



c. The hair on the body got thicker
d. The hair on the body began to thin out.

5. The author indicates that one of the purpose of hair on the head is to
a. Fill up pillows
b. Help heat escape through the scalp
c. Ensure that the head is warm

d. Make it easier to think



Latihan Jurus 2 :

Line

(5)
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Many parts of the southwestern United States would become deserts again without the waters
the Colorado River. A system of thousands of miles of canals, hundreds of miles of tunnels and
agueducts, and numerous dams and reservoirs bring Colorado River water in the area. The
Imperial Valiey in southern California is an example of such a place; it is a vast and productive
agricultural area that was once a desert. Today, 2,000 miles of canals irrigate the fertile land
and keep it productive.

1. Which the following is mentioned in the
passage as a way that Colorado River

2. According to the passage, the Imperal
Valley

water gets to the Southwest? (A} 15 a desert today
(A) By truck (B} Is located in Colorado
(B) In bottles
(C) In wells (D) Does not require irrigation
AR R LT L 1 ——

The ancestors of humans had a lot more hair than the humans of today; in fact, they had thick
hair all aver their bodies. This thick hair was necessary for protection against the cold of the ice
Ages.

As Earth got warmer, the hair began to thin out, except for on the head. The head hair has
remained trough the evolutionary process, both as a sort of plllow to cushion the sensitive head
when it gets banged around and as a sort of that to keep the head warm and prevent so much
heat from escaping through the scaip.

3. Choose the drawing that shows the 4. According to the passage, what happened as
human ancestors that are ¢8scribed In the temperature on Earth increased?
the first paragraph (A] The hair on the head began to thin out.
A " (B) The hair on the body remained the same.
o (C] The hair on the body got thicker.
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5. The author indicates that one of the purpose
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(D) Make it easier to think
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Many parts of the southwestern united states would become deserts again
without the waters the Colorade River. A system of thousansd of miles of
canals, hundreds of miles of tunnels and aqueducts, and numerous dams
and reservoirs bring Colorade River water in the area. The imperial
Valley in southern California is an example of such a place it is a vast and
productive agricultural area that was once a desert. Today, 2,000 miles of
canals irrigate the fertile land and keep it productive.

1. Which the following is mentioned in the passage as a way that
Colorade River water gets to the southwest?

A. By truck
B. In bottles
C. In wells

D. Trough canals

2. According to the passage, the imperial Valley
A. Is a desert today
B. Islocated in colorado
C. Produces a lot of agricultural goods

D. Does not reqiureirrigation



The ancestore of humans had a lot more hair than the humans of today in
fact, day had thick hair all over their bodies. This thick hair was
necessary for protection against the cold of the ice Ages.

As earth got warmer, the hair began to thin out, except for on the head.
The head hair has remained trough the evolutionary process, both as a
sort of pillow to cushion the sensitive head when in gets banged around
and as a sort of that to keep the head warm and prevent so much heat
from escaping trough the scalp.

3. Choose the drawing that shows the human ancestors that are
described in the first paragraph.

A. -
B. -
C. -
D. -

4. According to the passage, what happened as the temperature on earth
increased?

A. The hair on the head began to thin out
B. The hair on the body remained the same
C. The hair on the body got thicker

D. The hair on the body began to thin out

5. The author indicates that one of the purpose of hair on the head is to
A. Fill up pillows
B. Help heat escape trough the scalp

C. Ensure that the head is warm



D. Make it easier to think
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Many parts of the southwestern United States would become deserts again without the waters
the Colorado River. A system of thousands of miles of canals, hundreds of miles of tunnels and
aqueducts, and numerous dams and reservoirs bring Colorado River water in the area. The
Imperial Valley in southern California is an example of such a place; it is a vast and productive
agricultural area that was once a desert. Today, 2,000 miles of canals irrigate the fertile land
and keep it productive.

1. Which the following is mentioned in the 2. According to the passage, the Imperial

passage as a way that Colorado River Valley

water gets to the Southwest? (A) s a desert today
(A) By truck (B) Islocated in Colorado
(B) In bottles (C) Produces a lot of agricultural goods
(C) Inwells (D) Does not require irrigation

(D) Trough canals

The ancestors of humans had a lot more hair than the humans of today; in fact, they had thick
hair all over their bodies. This thick hair was necessary for protection against the cold of the Ice

Ages,

As Earth got warmer, the hair began to thin out, except for on the head. The head hair has
remained trough the evolutionary process, both as a sort of pillow to cushion the sensitive head
when it gets banged around and as a sort of that to keep the head warm and prevent so much
heat from escaping through the scalp.

3. Choose the drawing that shows the 4. According to the passage, what happened as
human ancestors that are described in the temperature on Earth increased?
the first paragraph (A) The hair on the head began to thin out.
B (B) The hair on the body remained the same,
(C) The hair on the body got thicker.

hlll|“‘"“ll.
‘2!:\ (D) The hair on the body began to thin out.
POy

) L 5. The author indicates that one of the purpose

i o of hair on the head is to
. i.t 3 (A) Fill up pillows
.lﬁ: h (B) Help heat escape through the scalp
L ¢ w (C) Ensure that the head is warm

(D) Make it easier to think
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